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4. (1)120+2=60(T.) é (2)20-16.3=3.7( L)
60x6+120=480( 12.) 3. (5+3+3)x2=22( %)
(2)25x6=150( ) | 4. (1)573-466=107(F K- 5)
5. (1)730-200=530( F %) § (2)735-230=505( K- i} )

(2)558-380=178(F %)

(62}

| (D)—3FT 28
b E § 350-25x2=300( 1 )
(3)860-558=302( F & ) :
90x3=270( %)
270<302

(2)25x2x3=150( 1 )
150+1=151( )

% 26 27 kR
Z:Ab@‘j( . . B
R S IR (=)
£ 24 25
* " =Lk B 7
FEEBEENEA(—)
2.2 1
—.1.30 ¥
3> < = > >
2. D
4. 80
3.< > < = :
. 5.24
4. 16 !
6.8 31 2022
5.4 5 308 5 4 7
7.4
6.13:10 1 10 80
N JAN
8. 10 : 9. 6.5
9.1 0 L 10. 6 BCECELA 1 ARy RS2 A0
10. 15 26 : KRR 6 A G LR 222 /DIt
— 1% 2V 3% 4V 5 % TV o2X 383X 4V 5V 6 X
=.1.B 2C 3.A 4.C 5C 6.B . =.1.C 2A 3.C 4B 5B
fM.1.9 400 80 428 69 10 345C 997¢ : P.1.84 80 31 260 92 24 197
2.5632 31.47C 954 1960 ; 7.3 70
3.618 480 94 ' 2.1045C 135°C 644 1420 4056
oL W 3.232 9 995
2. 16 JEK DR 1 W

$E3W



2. 16x4=64(/2 % ) N

(40+25)x2=130( /2 % ) 7N\ 1 77+(8-1)=11(A>)
75.1. (48+36)+4=21(41) i 2. (1) N 4 W2k

2.19.5+12.9=32.4() i (2)120x3=360( k)

3. (1)406-122=284(F %) é 3. (1)15x4+8=68( L)
(2)1023+295+167=1485(F k) i (2)(102+2)x8=832(T.)
(3)RH IR i — é 800<832

4. (20+16)x2=72(4 K ) i A

5. 55x4+98x6=808( F ) | 4. (1)47.5+88.6=136.1( )

& 28,29 I § 100<136.1
AN (Z) § R
—.1.310 92 50 i (2)75.8+30.7=106.5(T.)

2. 1% 110-106.5=3.5( .)

3.365 29 | 5. 48+16x2=80( 4 %)

4.< > = < 80 7AK=8 >k

52 6 80 145 394 6 0 9 . 8x8=64(1)

6.120 3 § % 31 bR

7.147 152 é FARRR K

8. (1)35 1. 82:2=41( @)

(2)38 ' (41-1)x2=80(4 k)
(3)H 804 K=8 K

9.8 | 2. 268+275-305=148(%")

10. 1195 | 3.30:(5+1)=5(22)

=1V 2V 34X 4X 5V . 5x5x4=100( )

=.1.A 2.C 3.B 4B 5.¢C 4.8

fM.1.1200 590 0 100 90 10.0JC ia~£ﬁ?2ﬁ
2030 4 1770 . 65x2=130(F k)

2.5130 34.17C 2190 6. WIS N 6 17,6 S AE R WURIE T

3.281 580 2282 504 BB, TR AR A I

4. 293+250-89=454( X ) | Bx4x3=T2(EX)

i
N
|



